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Area of a Triangle 
 Name:__________________________                                                                                                                          Date:___________________ 

 

 
 

                                         

 
 

 

 
 

 

 
 

 

 
 

 

 
 

 

 
 

 

 
 

 

 
 

 
 

 

 
  

 

 
 

 

 

   

 
 

 

 
 

 

 
 

 

 
 

 

 
 

 

 

 

 

 
 

 

 
 

 

 
 

 

 
 

 

 

Each triangle has one of its angle bisectors drawn. 
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CR = 13.  Find CQ. 
 
 
 

ZD = 50 and CD = 10.  Find CZ. 
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CK = 2.  Find CP. 
 
 
 

GI = 28 and CI = 13.  Find CG. 
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BX = 13 and CX = 9.  Find CB. 
 
 
 

CX = 15.  Find CY. 
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Each triangle has one of its angle bisectors drawn. 
 
 
 
 

CQ = 13 
 

 
 
 

CR = 13.  Find CQ. 
 
 
 

ZD = 50 and CD = 10.  Find CZ. 
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     CZ = 50.99 
 

 
 
 

 CP = 2 
 

 
 
 

CK = 2.  Find CP. 
 
 
 

GI = 28 and CI = 13.  Find CG. 
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     CG = 30.87 
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 CB = 15.81  
 

 
 
 

BX = 13 and CX = 9.  Find CB. 
 
 
 

CX = 15.  Find CY. 
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